Patterns and Sequences notes.notebook August 20, 2019

1) Multiply out the brackets and simplify:

a)3(p-2) b) 3h(2 + g) c) 3@1)
3[) —£ 6 h +3¢3L\ 3( -3¢

Factorise the following expressions using a common

factor:
10x2 + 15xy
/5( 59+ 8m—20 Cr%mrérrgz) - 6g - 10f
:6(3 4‘2m -(—1> M (2'\!\ 4'6)
\())c Ta151Y)

1x JSX)
51(2)64q>3>

To revise what we know about patterns and
sequences.
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Continue the patterns...

Tables| 1 2 3 4 5 6

Chairs 2
Y&

No. of
papers

cost | 20p | WO 60p| R0p F | X




Patterns and Sequences notes.notebook August 20, 2019

Continue the pattern...
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N: \ 9_ 73 L\ S
10, 20, 30, 40, 50, ...

on: o L0 30 ko ¢
on

Ve

(\; | 2— 3 l’t S
6, 8, 10, 12, 14, ...

il“: Z.Q' g ég O
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Starter %\ﬁ—-]‘j = -2

F\$ H1S
1) Solve the equation 3(y - 5) = -12 3\3‘— 3
= |
2) Evaluate m4x m2z _ 4 n

= M
3) Simplify V32 - TH X %-‘
4) Factorisex2 - 2x - 35 = l r

(x ) =2[uv1
) —giwl [2 =42

N - ( 2 S &4 §
1I3l5I7I9I

Qﬂ32\LT ¢ % 10
20 -1
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Finding the nt Term

¢ Label the terms with n numbers, starting with 1.

% The amount being added from term to term is the
multiplier.

¢ Compare with the actual terms and + or - an amount.

nNn: 1z 3 4
eg. 14,8 12,16,.. +4

hn: & % 1L 16 V(ﬂ\/\
[ Y N S PN
2) 6,11, 16, 21, 26, ... +5
5: 5 1o (S 20 23
An+|
n:1 213445
3) ,6,7,8,09, .. +1
12345 n+kh
o~

Find an expression for the nt term, then use this to find

the 100t term in the sequence: LDO“‘*UM
13,6,9,12,15,.. AN 24160 T 300
2)11,21,31,41, .. \ON 4| 1oy 100%( = 100}
3)13,16,19,22,.. 4n+10 3xloo+10 =310

4)4,5678.. n+5
5) 20, 40, 60, 80, .. A OMN
6)-5,-10,-15,-20, .. —
76543, -N0N+T

01234
9 '80.5, 80, 79.5, 79, 78.5, .. ~ - 90 "'%\
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Today's Learning:

To find the formula connecting two variables.

R 1 2 3 4 5
t 8 10 12 14 16

2 2 L ¢ g (0

1) Find a formula for t in terms of R.
L= 9Q +6
2) Find t when R is 12

t72+|24’(-> = 2‘{4’6530

3) Find R when t is 30

WV 70 :QQJré
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1) Samira is designing a chain belt. Each section of the belt
is made from metal rings as shown below.

& 86 ¢F8

1 section 2 sections 3 sections
4 rings 9 rings 14 rings
a) Complete the table.

Number of sections (s)[1 2 3 4 511
Number of rings (r) [4 9 & 1924 5¢

9s 510152625

b)Write down a formula for calculating the number of rings
(r), when you know the number of sections (s).

r=5s-|
Z) Samira uses 79 rings to make her belt.How many sections
must she have?
1= |
v +

50=95
b =5

)\

V)
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